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2009 (Even)

Time : 4 Hrs.

Full Marks  : 80
Pass Marks : 26

Answer all 20 questions from Group-A, each question carries 1 mark.

xzqi&A ls lHkh 20 iz'uksa ds mÙkj nsaA izR;sd iz'u dk eku 1 vad gSA

Answer Group-A using ball pen in the corner of Drawing sheet and

others on drawing sheet using HB pencil.

xzqi -A dk mÙkj Mªkb±x&lhV ds dksus esa ckWy isu ls rFkk vU; iz'uksa ds

mÙkj Mªkb±x&lhV ij ,p&ch isafly ls nsaA

Answer any four questions from Group-B, each question carries 6 marks.

xzqi&B ls fdUgha pkj iz'uksa ds mÙkj nsaA izR;sd iz'u dk eku 6 vad gSA

Answer any three questions from Group-C, each question carries 12 marks.

xzqi&C ls fdUgha rhu iz'uksa ds mÙkj nsaA izR;sd iz'u dk eku 12 vad gSA

Any missing data and scale may be assumed suitably.

NwVs gq, vk¡dM+s ,oa iSekuk ;qfDrlaxr eku ysaA

All parts of question of one Group must be answered at one place

 in sequence, otherwise they may not be evaluated.

,d xzqi ds lHkh iz'u ,ao muds va'kksa dk mÙkj ,d gh txg

¼yxkrkj Øe esa½ gksuk pkfg,A vU;Fkk] os ugha tk¡ps tk ldrs gSaA

The figures in the right margin indicate full marks.

ik'oZ ds vad iw.kk±d ds lwpd gSaA

II Sem-G
B.Engg.Drwg.
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GROUP-A

1. Choose the most appropriate answer from the given

four alternatives for each question :                  1x20=20

izR;sd iz'u ds fy, fn;s x;s pkj fodYiksa esa ls lcls lgh mÙkj pqusa %

(i) If top portion of a cone is removed after cutting

by a horizontal plane then bottom portion is

called :

(a) frustum (b) truncated

(c) hyperbola (d) ellipse.

{kSfrt ry }kjk 'kadq dks dkVus ds mijkar ;fn 'kh"kZ Hkkx

gVk fy;k tkrk gS rks fupyk Hkkx dgykrk gS %

(a) ÝLVe (b) VªadsVsM

(c) vfrijoy; (d) nh?kZor̀A

(ii) When a semi-circle is rotated about its diameter,

solid generated will be :

(a) cone (b) cylinder

(c) sphere (d) all of the above.

tc ,d v)Zor̀ dks mlds O;kl ds fxnZ ?kqek;k tkrk gS rks

mRikfnr Bksl gksxk %

(a) 'kadq (b) csyu

(c) xksyk (d) mijksDr lHkhA
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(iii) All vertical faces of a right and regular triangular

prism are :

(a) right angle triangles

(b) rectangles

(c) square

(d) all of the above.

fu;fer f=Hkqtkdkj fizTe dh lHkh mnxz lrgsa gksrh gSa %

(a) ledks.k f=Hkqt (b) vk;r

(c) oxZ (d) mijksDr lHkhA

(iv) Isometric view is drawn with the use of :

(a) true scale (b) isometric scale

(c) both (a)&(b) (d) diagonal scale.

fuEu esa ls fdlds iz;ksx ls vkblksesfVªd n'̀; [khapk

tkrk gS \

(a) okLrfod iSekuk (b) vkblksesfVªd iSekuk

(c) (a) ,oa(b) nksuksa (d) Mkbxksuy iSekukA

(v) Isometric projection of a sphere will be :

(a) a circle of dia. equal to the true diameter

of the sphere

(b) a circle of diameter less than the true

diameter of the sphere.

(c) a sphere of diameter less than the true

diameter of the sphere

(d) None of the above.

4

fdlh xksys dk vkblksesfVªd izkstsD'ku gksxk %

(a) xksys ds okLrfod O;kl ds cjkcj O;kl dk or̀

(b) xksys ds okLrfod O;kl ls de O;kl dk or̀

(c) xksys ds okLrfod O;kl ls de O;kl dk xksyk

(d) mijksDr esa ls dksbZ ughaA

(vi) True shape of a section of solid is projected on

a plane :

(a) perpendicular to the section plane

(b) inclined to the section plane

(c) parallel to the section plane

(d) none of the above.

[kafMr Bksl dh okLrfod vkd̀fr dks] oSls ry ij izkstsDV

fd;k tkrk gS] tks &

(a) lsD'ku ry ds yacor~ gks

(b) lsD'ku ry ds lkFk >qdh gqbZ gks

(c) lsD'ku ry ds lekarj gks

(d) mijksDr esa ls fdlh ij ughaA

(vii) Representative fraction of a scale is defined as

the ratio of :

(a) Area on the map / Actual area

(b) (distance on the map / Actual distance)2

(c) Actual distance / Distance on map

(d) Distance on map / Actual distance
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fdlh iSekus dk izfrfuf/k fHkUu fuEu ls ifjHkkf"kr fd;k

tkrk gS %

(a) eSi ij {ks=Qy ,oa okLrfod {ks=Qy dk vuqikr

(b) eSi ij nwjh ,oa okLrfod nwjh ds vuqikr dk oxZ

(c) okLrfod nwjh ,oa eSi nwjh dk vuqikr

(d) eSi nwjh ,oa okLrfod nwjh dk vuqikrA

(viii) When a cone is cut by a plane parallel to the

axis of cone, the curve will be :

(a) circle (b) parabola

(c) hyperbola (d) ellipse.

tc fdlh 'kadq dks mlds v{k ds lekarj dksbZ ry dkVrk

gS rks izkIr oØ gksxk %

(a) òr (b) ijoy;

(c) vfrijoy; (d) nh?kZor̀A

(ix) A scale which measures only one digit after

decimal is called :

(a) Plain scale (b) Diagonal scale

(c) both (a)&(b) (d) none of the above.

iSekuk tks n'keyo ds ckn ,d gh vad ekirk gS]

dgykrk gS %

(a) Iysu iSekuk (b) Mkbxksuy iSekuk

(c) (a),oa(b) nksuksa (d) mijksDr esa ls dksbZ ughaA

6

(x) When front view and top view of a point are

above reference line then point will be in :

(a) 1st quadrant (b) 2nd quadrant

(c) 3rd quadrant (d) 4th quadrant

tc fdlh fcUnq dk ,fyHks'ku ,oa Iyku nksuksa fjÝsUl js[kk

ds Åij gS rks fcUnq vofLFkr gksxk %

(a) izFke ikn esa (b) f}rh; ikn esa

(c) rr̀h; ikn esa (d) prqFkZ ikn esaA

(xi) In which methods of projection, projectors are

parallel to each other and also perpendicular to

the plane ?

(a) perspective projection

(b) oblique projection

(c) isometric projection

(d) orthographic projection.

fdl izkstsD'ku fof/k esa izkstsDVlZ vkil esa lekarj ,oa Iysu

ds yacor~ gksrs gSa \

(a) ilZisfDVo izkstsD'ku

(b) vkWfCyd izkstsD'ku

(c) vkblksesfVªd izkstsD'ku

(d) vkWFkksZxzkfQd izkstsD'kuA
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(xii) If a line is contained by a profile plane and

inclination of line with H.P. is 30º then its

inclination with V.P. will be :

(a) 60º

(b) 30º

(c) 45º

(d) can not be said definitely.

;fn dksbZ js[kk ,d izksQkby Iysu esa vofLFkr gS rFkk bldk

>qdko H.P. ds lkFk 30º gS rks bldk >qdko V.P. ds lkFk

gksxk %

(a) 60º

(b) 30º

(c) 45º

(d) fuf'pr :i ls ugha dgk tk ldrk gSA

(xiii) If a line has H.T. only, it means line :

(a) is inclined to V.P. and parallel to H.P.

(b) is parallel to both H.P. and V.P.

(c) is inclined to H.P. and parallel to V.P.

(d) all of the above.

;fn fdlh js[kk dk dsoy H.T. gS rks bldk vFkZ gS fd

js[kk %

(a) mnxz ry ds lkFk >qdh gqbZ ,oa {kSfrt ry ds

lekarj gSA

(b) nksuksa ryksa ds lekarj gS

8

(c) {kSfrt ry ls >qdh gqbZ ,oa mnxz ry ds lekarj gS

(d) mijksDr lHkhA

(xiv) Auxiliary vertical plane (A.V.P.) is :

(a) perpendicular to V.P. and inclined to H.P.

(b) pendicular to H.P. and inclined to V.P.

(c) inclined to both H.P. & V.P.

(d) same as Auxiliary inclined plane.

vkWfDtyjh HkfVZdy Iysu gksrk gS %

(a) mnxz ry ds yacor~ ,oa {kSfrt ry ds lkFk ur

(b) {kSfrt ry ds yacor~ ,oa mnxz ry ds lkFk ur

(c) {kSfrt ,oa mnxz nksuksa ry ls >qdk gqvk

(d) vkWfDtyjh fr;Zd ry dh rjgA

(xv) When a plane is inclined to the H.P. and

perpendicular to the V.P. then its :

(a) H.T. will be a point and V.T. will be a

line

(b) H.T. will be a line perpendicular to XY

line and V.T. will be a point

(c) has neither H.T. nor V.T.

(d) H.T. will be a line perpendicular to XY

line and V.T. will be also a line
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tc ,d ry] {kSfrt ry ls >qdk gqvk ,oa mnxz ry ds

yacor~ gks] rc bldk %

(a) H.T. ,d fcUnq gksxk ,oa V.T. ,d js[kk gksxh A

(b) H.T. XY js[kk ds yacor~ ,d js[kk ,oa VT ,d

fcUnq gksxk

(c) u rks H.T. vkSj u gh VT gksxkA

(d) H.T., XY js[kk ds yacor~ ,d js[kk ,oa V.T. Hkh

,d js[kk gksxhA

(xvi) Oblique plane is a plane which is :

(a) inclined to both H.P. and V.P.

(b) inclined to H.P. and perpendicular to V.P.

(c) perpendicular to both H.P. and V.P.

(d) same as profile plane.

vkWfCyd Iysu ,d Iysu gS tks %

(a) H.P. ,oa V.P. nksuksa ls >qdk gksrk gS

(b) H.P. ls >qdk ,oa V.P. ds yacor~ gksrk gS

(c) H.P. ,oa V.P. nksuksa ds yacor~

(d) izksQkby Iysu ds leku gksrk gSA

(xvii) As per IS :, maximum size of Drawing Sheet is

represented by :

IS : ds vuqlkj Mªkb±x lhV ds egÙke vkdkj dks iznf'kZr

fd;k tkrk gS %

(a) A4 (b) A3

(c) B0 (d) A0

10

(xviii) Intersection point of true length obtained by

trapezoid method and top view of a line will be :

(a) V.T. (b) H.T.

(c) both (d) all of the above.

leyac prqHkqZt fof/k ls izkIr js[kk dh okLrfod yackbZ vkSj

js[kk ds Iyku dk dVku fcUnq gksxk %

(a) HkhŒVhŒ (b) ,pŒVhŒ

(c) nksuksa (d) mijksDr lHkhA

(xix) Isometric length of a line is :

(a)
2
3

 times of true length

(b) ×
3

2  true length

(c) 0.815 ×  true length

(d) same of true length.

fdlh js[kk dh vkblksesfVªd yackbZ gksrh gS %

(a)
2
3

 ×  okLrfod yackbZ

(b) ×
3

2  okLrfod yackbZ

(c) 0.815 ×  okLrfod yackbZ

(d) okLrfod yackbZ ds cjkcjA
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(ii) Two points A and B are in V.P. The point A is 25 mm

above HP while the point B is below the HP. The distance

between the projectors of A and B is 60 mm and the line

joining their front views makes an angle of 45º with the

reference line. Draw the projections of line AB and hence

find the distance of point B below the H.P.                       6

nks fcUnq A ,oa B ,d mnxz ry esa gSaA fcUnq A {kSfrt ry ls 25 mm

Åij gS tcfd fcUnq B {kSfrt ry ds uhps gSA nksuksa fcUnqvksa dh

iz{ksid js[kk,¡ 60 mm dh nwjh ij gSaA muds ^ÝUV O;w* dks feykus

okyh js[kk] izkekf.kd@lkis{k js[kk ls 45º dk dks.k cukrh gSA js[kk

AB dk iz{ksi.k [khapsa] rnqijkar {kSfrt ry ls fcUnq B dh nwjh Kkr

djsaA

(iii) The major axis of an ellipse is 150 mm long and the minor

axis is 100 mm long. Find the foci and draw the ellipse.

Draw a tangent to the ellipse at a point on it 25 mm above

the major axis.                                                              6

,d nh?kZòr ds nh?kZ v{k dh yackbZ 150 mm ,oa y?kq v{k dh yackbZ

100 mm gSA Qksdy fcUnqvksa dks fn[kkrs gq, nh?kZor̀ [khapsaA iz/kku

¼nh?kZ½ v{k ls 25 mm Åij nh?kZo`r ds fcUnq ij Li'kZ js[kk [khapsaA

(iv) The front view of a line, inclined at 30º to the V.P. is 65

mm long. Draw the projections of the line, when it is parallel

to and 40 mm above the H.P., its one end being 30 mm in

front of the V.P.                                                           6

11

(xx) Length of the lines of development of surfaces

of a solid will be :

(a) reduced length (b) increased length

(c) true length (d) cannot be said.

fdlh Bksl ds fodflr lrgksa dh lHkh js[kkvksa dh yEckbZ

gksrh gS %

(a) derj yEckbZ

(b) c<+h gqbZ yEckbZ

(c) okLrfod yackbZ

(d) ugha dgk tk ldrk gSA

GROUP-B

2. Solve any four questions :–                                                 6x4=24

fdUgha pkj iz'uksa dks gy djsa %&

(i) Construct a plane scale, of 1 cm = 0.5 km, to read

kilometers and hectometers and long enough to measure

upto 9 kilometers. Find its R.F. and measure a distance

of 6 Km and 4 hectometers on this scale.                  6

9 fdŒehŒ rd dh nwjh ekius ds fy, 1 lsŒehŒ  = 0.5 fdŒehŒ] dk

,d Iysu iSekuk cuk,¡ ftlesa fdyksehVj ,oa gsDVksehVj i<+k tk

ldsA Ldsy dk R.F. crk,¡ ,oa bl iSekus ij 6 fdŒehŒ 4 gsDVksehVj

dh nwjh dks n'kkZ,¡A
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30 mm vk/kkj Hkqtk ,oa 65 mm yacs v{k okys iapHkqt fijkfeM

ftldk vk/kkj {kSfrt ,oa vk/kkj dk ,d fdukjk mnxz ry ds lekarj

gS dk [kafMr Iyku [khapas] ;fn [kaM ry {kSfrt ,oa blds vk/kkj ls

25 mm Åij ls fijkfeM dks dkVrk gksA

GROUP-C

Answer any three questions :–                                   12x3=36

fdUgha rhu iz'uksa ds mÙkj nsa %&

3. Draw the projections of a line AB, 90 mm long, its mid-

point M being 50 mm above the H.P. and 40 mm in

front of the V.P. The end A is 20 mm above the H.P.

and 10 mm in front of the V.P. show the traces and the

inclinations of the line with the H.P. and the V.P.      12

90 mm yach js[kk AB dk iz{ksi.k [khapsa ;fn bldk eè; fcUnq M,

{kSfrt ry ls 50 mm Åij rFkk mnxz ry ls 40 mm lkeus gksA

js[kk dk ,d fljk A, {kSfrt ry ls 20 mm Åij ,oa mnxz ry ls

10 mm lkeus gSA js[kk dk Vsªlst ,oa mnxz ry rFkk {kSfrt ry ls

>qdko fn[kk,¡A

4. A hexagonal pyramid, base 25 mm side and axis 50

mm long is resting on one of the edges of its base in the

HP and parallel to the V.P. Draw its projections and

side view also.                                                       12

13

,d js[kk tks mnxz ry ls 30º ij >qdh gqbZ gS] dk lEeq[k n'̀; ¼ÝaV

O;w½ dh yackbZ 65 mm gSA js[kk dk iz{ksi [khapsa] tc ;g {kSfrt ry

ls 40 mm Åij ,oa blds lekarj gksA lkFk gh lkFk js[kk dk ,d

fljk mnxz ry ls 30 mm dh nwjh ij ,oa blds lkeus gksA

(v) A cone, diameter of base 40 mm and axis 60 mm long

is resting with its base on H.P. Draw the projections of

the cone.                                                                  6

40 mm O;kl okys vk/kkj ,oa 60 mm yacs v{k okys 'kadq vius

vkèkkj ij {kSfrt ry ij fLFkr gSaA 'kadq ds iz{ksi.kksa dks [khapsaA

(vi) Draw the isometric view of a square prism of side of the

base 20 mm long and the axis 40 mm long and its axis is

vertical.                                                                       6

20 mm yach Hkqtk okys vk/kkj ,oa 40 mm yacs ,oa mnxz v{k okys

oxkZdkj fizTe dk vkblksesfVªd n'̀; [khapsaA

(vii) A pentagonal pyramid, base 30 mm side and axis

65 mm long, has its base horizontal and an edge of the

base parallel to the V.P. Draw its sectional top view

when a horizontal section plane cuts it at a distance of

25 mm above the base.                                                6
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,d "kV~Hkqt fijkfeM ds vk/kkj dk ,d fdukjk 25 mm vkSj v{kh;

yEckbZ 50 mm gSA ;g vk/kkj ds ,d fdukjs ij {kSfrt ry esa fLFkr

gS rFkk ;g fdukjk mnxz ry ds lekukUrj Hkh gSA bl fLFkfr esa iz{ksiksa

dks [khapsa] lkFk gh ^lkbM O;w* Hkh cuk,¡A

5. A cone, base 75 mm diameter and axis 75 mm long,

has its axis parallel to the V.P. and inclined at 45º to the

H.P. A horizontal section plane cuts the cone through

the mid-point of the axis. Draw the front view, sectional

top view and an auxiliary top view on a plane parallel

to the axis.                                                12

,d 'kadq tks 75 mm O;klh; vk/kkj ,oa 75 mm yack v{k mnxz

ry ds lekarj ,oa {kSfrt ry ls 45º ds dks.k ij >qdk gqvk gSA ;fn

'kadq ds v{k ds eè; fcUnq ls gksdj ,d {kSfrt [kaM Iysu xqtjrk gks

rks 'kadq dk ÝaV O;w] [kafMr Iyku ,oa v{k ds lekarj ry ij

dkYifud Iyku [khapsaA

6. A pentagonal pyramid, side of base 30 mm and height

52 mm, stands with its base on H.P. and an edge of the

base is parallel to V.P. It is cut by a plane perpendicular

to V.P., inclined at 30º to H.P. and passing through a

point on the axis, 32 mm above the base. Draw the

sectional top view and develop the lateral surface of

the truncated pyramid.                                          12

30 mm vk/kkjh; Hkqtk ,oa 52 mm Å¡ps iapHkqt fijkfeM tks {kSfrt

ry ij [kM+s gSa rFkk bldh ,d vk/kkjh; Hkqtk mnxz ry ds lekarj

gSA ;fn ;g fijkfeM] {kSfrt ry ls 30º ij >qdk ,oa mnxz ry ds

yacor~ ry }kjk tks vk/kkj ls 32 mm Åij xqtjrk gSA }kjk dkVk

tkrk gS rks bldk [kafMr Iyku ,oa [kafMr fijkfeM dh ik'oZ lrg

fodflr djsaA

7. A cylinder of base 50 mm diameter and axis 70 mm

long is lying on the H.P. Draw its isometric view when

axis is horizontal.                                                    12

50 mm O;kl ds vk/kkj ,oa 70 mm yacs csyu {kSfrt ry ij

vofLFkr gSaA tc v{k {kSfrt gks rks bldk vkblksesfVªd O;w [khapsaA

8. Write in gothic letters of 12 mm height the word

‘‘ZODIAC’’                                                           12

‘‘ZODIAC’’ 'kCn dks 12 mm Å¡ps xksfFkd ysVlZ esa fy[ksaA
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